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Chapter 8: Percentage and Its Applications 

Recap Exercise 

1. (a) one half =  
1

2
 = 50 %, hence, answer is (iv). 

(b) 
2

3
 = 75 %, hence, answer is (iii). 

(c) 
1

5
+

1

4
=

 4+5

20
=

9

20
× 100 = 45%, hence, answer is (i). 

(d) 0.75 × 100 = 75%, hence, answer is (ii). 

2. (a) 25%  (b) 37%  (c) 1%  (d) 100% 

3. (a) 
20

100
  (b)  

45

100
   (c)  

88

100
  (d) 

1

100
 

4. (a) 
1

10
× 100 = 10%   (b) 

4

25
× 100 = 16% 

(c) 
7

8
× 100 = 87.5%   (d) 

33

4
× 100 = 32.5% 

Exercise 8.1 

    

     

        

Free Hand

Free Hand

Free Hand



154 

 

6.  

 
⇒ x = 562  ⇒ x + 4496 = 562 + 4496 = 5058 

Thus, the numbers are 562 and 5058. 

7.  

 
8.  
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9.  

 
10.  

 
11.  

 

 

Thus, the population of the town a year ago is 43,000. 

12.  

 

 

 

 

Free Hand

Free Hand
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Exercise 8.2 

 

(c) It is given that C.P. = ₹6890 and S.P. = ₹6250. 

Loss = C.P. – S.P. = 6890 – 6250 = ₹640 

Loss% = 
𝑙𝑜𝑠𝑠

𝐶.𝑃.
 × 100 = 

640

6890
 × 100 = 9.28% 

 

Free Hand
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11. Loss = 10% = 10/100 = 1/10; S.P. = 4500 

So, CP of the dinner set = 
10

9
× 4500 = `5000 

Required selling price to gain 20% = `5000 + 20% of `5000 = ` (5000 + 1000) = `6,000 

Free Hand
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12. CP = 5000 + 500 + 300 = 5800 (Inclusive of overhead expenses) 

SP = 5500; Here, CP > SP. Thus, a loss is occurred. 

Loss = CP – SP 

Loss = 5800 – 5500= 300 

Loss % = (Loss/CP) × 100 

Loss% = (300/5800) × 100 = 5.17% 

13. Let the cost price be x. 

Selling price = 
100+𝑔𝑎𝑖𝑛%

100
× 𝐶𝑃 =

100+7

100
× 𝑥 =

107𝑥

100
 

Selling price after `75 is added = 
100+𝑔𝑎𝑖𝑛%

100
× 𝐶𝑃 =

100+12

100
× 𝑥 =

112𝑥

100
  

According to the problem, 
112𝑥

100
−

107𝑥

100
= 75 

⇒
5𝑥

100
= 75 ⇒ 5𝑥 = 7500 ⇒ 𝑥 = 1500 

14. Let the C.P. of first set be `x. 

And the C.P. of the second set will be ` (41000 – x) 

S.P. of the first set = 
100 +𝑝𝑟𝑜𝑓𝑖𝑡 %

100
× 𝐶𝑃 =

100+15

100
× 𝑥    (given profit = 15 %) 

                                                                       =
115

110
x 

S.P. of the second set = 
100 –𝑙𝑜𝑠𝑠 %

100
 × C.P.= 

100 − 10

100
 × (41000 – x)  (given loss = 10 

%) 

                                                                        = 
90

100
 × (41000 – x) 

It is given that the selling price of both the T.V set is equal. 
115

110
 × = 

9

10
 × (41000 – x)  x = 18000 

Hence, the cost price of first T.V set is `18000 and for the second one price will be (41000 – 18000 = 

`23000). 

15. No, Kirti is not right because gain = 3000 – 2500 = 500, and not 5000. 

Exercise 8.3 

   

Free Hand
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13.  

   

 

 

Free Hand
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14. Use formula, equivalent discount = (A + B) − (AB/100) where A = first discount,  

B = second discount. 

Thus, equivalent discount = 29 − 1 = 28%. 

Alternatively, 25% is same as 0.25 in decimals and 4% is same as 0.04 in decimals. Now an 

equivalent discount for successive discounts of 25% and 4% can be given as: 

Equivalent discount for successive discounts 25% and 4% = 1 – {1 – 0.25) × (1 – 0.04)} 

                                                                             = 1 – {0.75 × 0.96} = 1 – 0.72 = 0.28 = 28% 

MENTAL MATHS 
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